BT75=h)LT—% / Technical Datall

##{TtJLY / Recommended torque

M2.5 : 0.15N*m ~ 0.2N*m

M3. M4 : 0.3N

V74

*m ~ 0.6N-m

FERLNZ / Components

No. 2 %5 / Part name #2 / Pcs #&E / Material - REIE / Color-Finish
’ WER/TIUNTZ7vb ) TILEF A Fv X ADC12 DIIN— | TSvy - B (REELE)
Handle corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
2 a—F—Javy ) TILEF A Fw X ADC12 DIIN—, TFvy - B (REELE)
Corner block Diecast aluminium ADG12 Silver , Black*Painted (Unfinished inside)
3 AR ) TILS I AB063S-T5 DILN—- B (NERERANIE)
Frame Extruded aluminium A6063S-T5 Silver+Painted (Unfinished inside)
4 IL—L . TILSHH A A6063S-T5 DILN—- B K (NERERNIER)
Panel support frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
5 IR ) 7 ILEER A1100P DILN—-BE (REEENE)
Panel Aluminium A1100P Silver+Painted (Conductive inside)
6 H3— ] 7ILSHR A1100P DIN—- R (REERNE)
Top cover Aluminium A1100P Silver+Painted (Conductive inside)
7 FThHN— ! 7 LR A1100P VIUN—- R (REEBNE)
Bottom cover Aluminium A1100P Silver+Painted (Conductive inside)
8 JLE 4 Erd L ITovy
Rubber feet Rubber Black
9 BftE R (M3 x 8) 1 % ZYTILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
10 BAER (EM3 x 5) 12 % ZTILAYE
Screw (Trapezoid head M3 - 5) Steel Nickel plated
» IMAFER GETFREFM25 x 7) 1 # I Z VS
Screw (Captive pan head M2.5 - 7) Steel Nickel plated
®

4
T / Product Number
AUPR - - -
N 1
H~ti& Wik Dtk EX P /H) Bk
H dimension W dimension D dimension Screw (P or H) Color Type 2
PUES .. \ o . 5
B HE X{LHE / Original trapezoid head screw specification
3
E 752X / Phillips E 75 / Hexagon-socket
f1L#% / Color Type 4 /Title A —
N 5] = N o : @)
i85 / Code | <2 rTS4 bk / Handle corner block a—+—7Aw% / Corner block 4R / Frame N2 )L / Panel ETFH/8— / Cover TAKACHI| #ARUHIDFERIE TIYIRIIUNNNRIVERE T —R \/%
SSs 2 )LsS— / Silver 2 )LiN— / Silver 2 JLiS— / Silver | 2 JLiN— / Silver | 2 JLsS— / Silver TAKACHI ELECTRONICS ENCLOSURE CO., LTD. 19” Rack Mount Enclosure with Detachable Panels % 5o
S B 75v7% / Black 75974 / Black S )LiN— / Silver | < ILsA— / Silver S )JLsN— / Silver &R /Approved & /Checked #1[X]/Created I /Product number >/ seae
==p i} ¥ @A AUPR222-43-25-013 —
~N— /Page
e B /Date 2025/09/10 1 7 17

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




209.5

B-B(1:55)

383
D view
D(1:4)
ST
o
8 4-FK7%6.5% 11

221.5+0.5 (r— R4V #% / External)

E view

(@)

A view

466

F view

482

431£0.8 (r—RAH4 2 / External)

A-A(1:55) C-C(1:55)
= =
o) )
& %
- o~
236 422
C view B view
251£0.5 (7 —R 5% / External)
278.5
mf/Title
TAKACHI| #ARHIHFERIE VIRV IVERE T —R (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. 19” Rack Mount Enclosure with Detachable Panels —
&R /Approved 1% X]/Checked #[X/Created I /Product number RE/Scale
1:5.5
iR e A AUPR222-43-25-013 p— v
e B /Date 2025/09/10 2 /1

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C ¥ / C Frame

219.5

14

@ / Front side

D {8l#% / D Frame

Z M / Front side

200 225
[9p]
(s
©
™
N
@ 3
N
@
™
==
(9]

g;
R, 7,
1t

2-M3RAHY I}
2—-M3 Countersunk

X R EEFEHE / Same on the other side.

ZEH / Back side

ZE M / Back side

mf/Title
TAKACHI] #R&#ahFEHIE IR O ]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
A& R/ Approved 1% X]/Checked #[¥]/Created FI& /Product number RE/Scale
1:3
Pt 2 e e
H222 - D250 e B /Date 2025/04/30 3 /1

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




16

225

356

6.5

E===

380

3-M2.5

L) i

14

M3

2-M3FH S}
2-M3 Countersunk

5.9 10.5

T4 / Total 4 pieces

mf/Title
DN =
TAKACHI] #X&#shFERTE SU—Ls O ]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
& 58/ Approved & /Checked #1[X]/Created B Z /Product number RE/Scale
1:2
hiR : w41 e
W430 e B /Date 2022/11/16 4 /7

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /A2l / A Panel

379.5
¥ Ly T
o
~
o
N
i [} o |
B¥h~ti%E / Max dim.372+05
M / Front side
B /\2JL / B Panel
K (4] z5 ]
= 0 @

M / Front side

A~T3i% / Max dim.187.1+£05

7z
X

B

3.5

6-M2.5F A% JLR)—T
6—Metal sleeve for M2.5

2 356
0 [—& 0 r =
o
S
N
[ = 0 k-
%M / Back side
0 [ 0 &
[ = 0 k-
ZE M / Back side
a4/ Title A —
PN o= o
TAKACHI| #X&#4hFEMTE ISR O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
7&E2/Approved & /Checked #1[X]/Created FIZE /Product number RE/Scale
1:3.5
R E3 A e
H222 - W430 Em B /Date 2025/04/30 5 /7

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7
<

: o

8 &

2R M / Front side

4194

400

B#h~ti% / Max dim. 383+0.5

6-24.5

B#TiE / Max dim. 203+05

2
S o)
{REES—AY
Surface protective film side
N o
ZZM / Back side
a4/ Title A —
DN = N
TAKACHI| HASHINTFERIR HIN— O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
e - = RE/Scale
7 2%/ Approved 1% X]/Checked #[X/Created #17 /Product number
1:4
iR 3 25 —
W430 - D250 e B /Date 2022/11/16 6 /7

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7
<

: o

8 &

2R M / Front side

4194

400

B#h~ti% / Max dim. 383+0.5

6-24.5

B#TiE / Max dim. 203+05

2
S o)
{REES—AY
Surface protective film side
N o
ZZM / Back side
a4/ Title A —
DN = .
TAKACHI| RRXEHAHFEHIE TH/A— @} L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
e - = RE/Scale
7 2%/ Approved 1% X]/Checked #[X/Created #17 /Product number
1:4
iR 3 25 —
W430 - D250 e B /Date 2022/11/16 7 77

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	シートとビュー
	AUPR222-43-25□-□□-モデル
	2
	3
	4
	5
	6
	7


